MTH 161, Practice Exam #1, Spring 2019

1. Translate the following graphs or expressions into appropri;

a.

b. tis between -2 and 8, including 8 but not -2. (- L
2. Give an example of a cubic function shifted 2 units right and |2

— .3
y=x°. B 3
Jd): 4 (x-3)>+ 2
3. If(4,1)is a point on the graph of f(x), which point must be bn
4. Given f(x) = 4¢***!1 — 10, find two functions f (x) and g )
§09= Zx4\ (0 = deX o

5. Sketch the left side of the graph to show a function with

y-axis symmetry.
6. Consider the function f(x) = —x2 + 3x — 11. Find an

expression or the difference quotient &tﬂ%f;’-{ﬂ.

Simplify completely. _ 9 v ~[+3
7. Suppose that f(x) = x? — 1, g(x) = V2 — x. Which of

the following is the value of (fg)(0)?

a. 0

h. 2

c. V2

8. Check for symmetry: x-axis, y-axis, origin.
2 2 _ ;

a. X" —xy+y =4 @N%\.._J

b. x=y* -2 X-axus SWWI'-Y
9. Consider the piecewise function f(x) = t)_ii l;l :; %,

find:

a. f(0) -

b. f(2) 5

c. X-intercept(s) ‘e =2,

d. Y-intercept y=-2 1

e. Graph the function

f. Domain (-0, %)

g. Range [__2, \)Q)

ey

e interval rotation,

= (- e, é_]

<]

units wp ana is narcower than

—_
the graph of y = 2f(—x)? (—ll', 2-‘

such that (f o g (x) = h(.x).

(thereare othar I""*‘"‘“‘(‘@'”Mu

/\

)
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10.

11.

12,

13.

14,

15.

16.

17.

Suppose that s%t) = V3 = t2,u(t) = -

-4
a. Find(sew)(t) . \];L({hntzvoq)

ppp—

: 203,80
b.  Write the domain in proper set notation. (&, (”"W v C(o-t r ) ,

Let f be a function such that f(2) = f(x) forallx in
(_413)-
a. Does f represent a relative min or Explain.

b. Sketch a possible graph of f that follows your
explanation.

Does the equation x = y* — 4y represent a function?

SN0
Find the domain of f(x) = s

Consider the graph to the right.
a. ldentify coordinates of any relative maxima or
minima.

b. On what intFrvals is f increasing? )

(—x, -1.1SS) U (155, t0)
c. Onwhatintervals is f decreasing?
(ﬂi.zs::, I.ISS)
A department shore marks up the price of a power
drill by 75% of ttLue price of the manufacturer. The
price, P(x), in dPIIars, to a customer after a 6% sales
taxis P(x) = (x+ 0.75x) + 0.06(x + 0.75x).

a. Simplify completely. PG = 1.858%

b. Evaluate P(97) and interpret the meaning in the
context of the problem.

|79. 44 (f The

T (F09,~ NV %)

—

W 244 Yo ieprrafl s,
Which of the following statements is true? ST

a. Afunction hiis even if f(~x) = —f(x)
A function hjis odd if —f(—x) = f(x)

¢. Afunction hlis even if f(x) = f(x?)

d. Afunction hjis evenif f(x) = f(2x)

Suppose that the graph of a function f is known. Then the giwph of v == - F(x) may ba

obtained by:

Reflecting the graph over the x-axis
b. Reflecting the graph over the y-axis
c. Shifting the graph to the left by 1
d. Shifting the graph down by 1




18. Consider the graph of f(x) to the right.
a. Sketchy = —f(—;-x)
i

b. Sketch f(x + 1) + 2
i

4

19. Consider f(x) = x3 — x.

a. Is f even, odd or neither?  Qdidl.

b. Sketch the graph.

c. Verify your conjecture algebraically.
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0. (s0u)H) = E{T’ t#4
)"

,t
3h2- 5t +16) -

| @|
|
|

3224k + 4

2LF-24€ 148
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15— a. (X+ o7sx)+ 006 (Xt 0.3 = oo (
b 7 8ssCe7) = 174, 4

4. y= x{x*-1) Teros o X= 1,01
Co 3z (- (=D = —x34x = = (¥
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